c{}El—j TpenupoBka cioxenus (6s) Nwmsi:

Pemure kaxayr 3axauy.

3+6=__ 10+6= 6+6= T+6=
5+6= 9+6= 2+6=_ 8+6=
4+6= 1+6=_ 9+6= 2+6=__
3+6=_ 7+6= 6+6= 10+6=
5+6= 1+6=__ 4+6= 8+6=
10+ 6= 3+6=_ 8+6= 4+6=
6+6= 5+6= 1+6=__ 7+6=
9+6= 2+6=_ 7+6= 6+6=
8+6= l+6=__ 10+6= 3+6=_
5+6= 9+6= 2+6=_ 4+6=
3+6=_ 9+6= 2+6=_ 4+6=
5+6= 6+6= 10+6= 8+6=
1+6=_ 7+6= 246=__ 8+6=
9+6= 10+6= 5+6= 3+6=
7+6= 4+6= 6+6= 1+6=
3+6=_ 1+6=_ 6+6= 8+6=
2+46=__ 10+6= 4+6= 7+6=
5+6= 9+6= 8+6= 10+ 6=
6+6= 5+6= T+6= 1+6=
2+6=__ 9+6= 4+6= 3+6=_
4+6= 9+6= 6+6= 5+6=
3+6=_ 1+6=_ 8+6= 10+6=
7+6= 246=__ 6+6= 3+6=_
446= 2+6=__ lo+6=___ A
1+6= 5+6= 9+6= T+6=
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TpenupoBka cioxenus (6s) Nwmsi: K104 K NPaBHILHbIM OTBETaM
Pemure kaxayr 3axauy.
3+6=_9 10+6= 16 6+6= 12 7+6= 13
5+6=_ 11 9+6=__15 2+6=_8 8+6=_ 14
4+6= 10 l+6= 7 9+6= 15 2+6= 8
3+6=_9 7+6=_ 13 6+6=_12 10+6=__ 16
S5+6= 11 l1+6= 7 4+6= 10 8+6= 14
10+6= 16 3+6= 9 8§+6= 14 4+6= 10
6+6=_12 5+6=_ 11 1+6=_7 7+6=_13
9+6= 15 2+6= 8 7+6= 13 6+6= 12
8§+6= 14 Il+6= 7 10+6= 16 3+6= 9
5+6=_ 11 9+6=_15 2+6=_8 4+6=_10
3+6= 9 9+6= 15 2+6= 8 4+6= 10
5+6= 11 6+6= 12 10+6= 16 8+6= 14
1+6=_7 7+6=__13 2+6=_8 8+6=_ 14
9+6= 15 10+6= 16 S5+6= 11 3+6= 9
7+6=_ 13 4+6=_10 6+6=_ 12 1+6=_7
3+6=_9 1+6=_7 6+6=_12 8+6=_ 14
2+6= 8 10+6= 16 4+6= 10 7+6= 13
S5+6= 11 9+6= 15 8+6= 14 10+6= 16
6+6=__12 5+6=_ 11 7+6=_13 1+6=_7
2+6= 8 9+6= 15 4+6= 10 3+6= 9
4+6= 10 9+6= 15 6+6= 12 5+6= 11
3+6= 9 I+6= 7 8+6= 14 10+6= 16
7+6= 13 2+6= 8 6+6= 12 3+6= 9
4+6= 10 2+6=_8 10+6= 16 8+6= 14
I1+6= 7 S5+6= 11 9+6= 15 7+6= 13
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